Guidance on the treatment of annual leave and pay in cases where term-time only (TTO) staff return from long-term sick leave
Leave should be taken within the current leave year wherever possible but if there are insufficient school holiday closure days remaining within the leave year, upon the employee’s return, the employee should be given paid time-off within the remaining term-time in order to use up their remaining contractual leave entitlement.  If there is any leave remaining to be carried over at the end of the current leave year, this will be the balance of the European Working Time Directive 20 days and this can be deemed to be taken within future school closure periods in the subsequent leave year.

Where a TTO employee commences long-term sickness leave part-way through a leave year, their accrued annual leave will be calculated and will be deemed to have been taken in school closure periods already occurring in that leave year provided that sufficient days of school closure have occurred.

In terms of the payment for leave, where the outstanding leave is taken in term-time in normal working hours (because there are insufficient school holiday closure days remaining in the current leave year) there is no adjustment to pay as the employee is effectively being given paid time off.  However, if taken in school holiday closure periods a calculation will need to be made in cases where the employee has been on half or nil pay to check whether there is any additional leave pay required.

In rare situations where the school/service wishes to grant the taking of leave in term-time then they may apply an individual variation of contract.

Example Calculations – Term-time only staff
1.a) Leave time-off 

Employee contracted for 37 hours per week has 27 days all year round equivalent leave entitlement – the pro-rata equivalent for TTO is 23 days [see Statement of Particulars for this figure]

 – Off sick for full leave year (01 April 2012 – 31 March 2013), returns 01 May 2013.
EWTD Leave = 20 days.
EWTD pro-rata leave entitlement 15 days (20 days x 39/52 weeks). 

EWTD leave untaken 15 days (12 months entitlement). Contractual leave untaken (one month – 01 – 30 April 23 days/12 = 2 days (rounded). All this leave can be deemed to be taken in school holidays during the 2013-14 leave year. 

1.b) Leave pay 

Leave pay received – 6 months full pay (01 April – 30 September 2012), 6 months half-pay (01 October 2012 – 31 March 2013) Nil pay 01 April – 30 April 2013.
For the sickness absence period 01 April 2012 – 31 March 2013 the employee will have been paid in full for 6 months (23 days/12 x 6 months) = 11.5 days and half for 6 months (23/12 x 6 months) = 5.75 totalling 17.25 days. 

Therefore all EWTD entitlement (15 days) has been covered and no additional payment is required. The one month unpaid period in leave year 2013/14 will not be sufficient to negate payment of the EWTD entitlement in the remainder of the leave year provided that the employee remains at work during this time.

2.a) Leave time-off Part time employee (20 hours per week/27 days all year round equivalent leave entitlement – the pro-rata equivalent for TTO is 23 days [see SoP for this figure])

 – Off sick for part leave year (01 May 2012 – 31 January 2013), returns 01 February 2013.
Contractual leave untaken (9 months entitlement) = (23 days) 4.67 weeks/9 months = 3.50 weeks X 20 hrs = 70 hours. One week’s leave (20 hours) can be deemed to be taken in the February 2012 half-term school holidays and 2.0 weeks (40 hours) were taken at Easter 2012 as this fell in the 2012/13 leave year. However, the Easter school holidays 2013 did not start until 01 April therefore 10 hours (0.5 weeks) leave needed to be taken by agreement in term-time by 31 March 2013. 

2.b) Leave Pay 

Leave pay received – 6 months full (01 May – 31 October2012), 3 months half-pay (01 November 2012 – 31 January 2013), Three months full pay received (01 April – 30 April 2012 and 01 February – 31 March 2013).
Pay for leave within the 9 month sickness absence will have been paid in full for 6 months (2.34 weeks - rounded) and half for 3 months ( 0.58 weeks - rounded) = 2.92 weeks. 

Therefore pay is owing for 0.58 weeks leave x 20 hours = 11.60 hours. However, the employee will be receiving 10 hours paid leave in term-time, so an additional payment of 1.60 hours is required.
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